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Ne Tema nIpakTUYECKOro 3aHATUS Konunuectso
qaCcoB
13 WnnuBuayansHOe ureHue. I'pammaruka. 3
14 CemuHapl 1o BHZEO JEeKIMH (TeMa COIJIacyeTcsl CO CTyIeHTaMH U OepeTcst u3 3
HOBBIX NOCTyIUIeHUH B MIHTepHETE.) O0ImIas TeMa: HCKYCCTBCHHBIM MHTEIUICKT.
15 WnpuBuayansHOE YTEHHUE

Hroro: 36

IIpoBepka ayaupoBaHusi

Paznen 1. AynmpoBanuel Task: Listen to the lecture .Study the questions below, write down 10
questions more, be ready to ask and answer the questions with your fellow-students. Watch the
video and be ready to make use of the offered advice.

https://www.youtube.com/watch?v=nhTcuUvlL GOE

Additional articles:

http://www.forbes.com/sites/jacquelynsmith/2013/01/11/how-to-ace-the-50-most-common-
interview-questions/#33cbb0704873

The 50 Most Common Interview Questions:

1.

10.

11.

12.

13.

What are your strengths?

What are your weaknesses?

Why are you interested in working for [insert company name here]?

Where do you see yourself in 5 years? 10 years?

Why do you want to leave your current company?

Why was there a gap in your employment between [insert date] and [insert date]?
What can you offer us that someone else can not?

What are three things your former manager would like you to improve on?
Are you willing to relocate?

Are you willing to travel?

Tell me about an accomplishment you are most proud of.

Tell me about a time you made a mistake.

What is your dream job?



https://www.youtube.com/watch?v=nhTcuUvLGOE
http://www.forbes.com/sites/jacquelynsmith/2013/01/11/how-to-ace-the-50-most-common-interview-questions/#33cbb0704873
http://www.forbes.com/sites/jacquelynsmith/2013/01/11/how-to-ace-the-50-most-common-interview-questions/#33cbb0704873

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24,

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.
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How did you hear about this position?

What would you look to accomplish in the first 30 days/60 days/90 days on the job?
Discuss your resume.

Discuss your educational background.

Describe yourself.

Tell me how you handled a difficult situation.

Why should we hire you?

Why are you looking for a new job?

Would you work holidays/weekends?

How would you deal with an angry or irate customer?
What are your salary requirements?

Give a time when you went above and beyond the requirements for a project.
Who are our competitors?

What was your biggest failure?

What motivates you?

What’s your ambition in life?

Who’s your mentor?

Tell me about a time when you disagreed with your boss.
How do you handle pressure?

What is the name of our CEO?

What are your career goals?

What gets you up in the morning?

What would your direct reports say about you?

37. What were your bosses’ strengths/weaknesses?

38. If I called your boss right now and asked him what is an area that you could

improve on, what would he say?



39. Areyou a leader or a follower?

40. What was the last book you’ve read for fun?
41.  What are your co-worker pet peeves?

42.  What are your hobbies?

43.  What is your favorite website?

44.  What makes you uncomfortable?

45. What are some of your leadership experiences?
46. How would you fire someone?

47.  What do you like the most and least about working in this industry?
48. Would you work 40+ hours a week?

49.  What questions haven’t I asked you?

50. What questions do you have for me?

Pasnen 2 Aynuposanue 2 Deep reinforcement learning.

Task: Listen to the lecture, make up a plan, write out new words, speak on the key ideas.

http://videolectures.net/rldm2015_silver_reinforcement learning

Pa3den 3 Aynuposanue 3 An e-Encyclopedia for Medical Imaging Technology
http://videolectures.net/medicon07_tabakov_emitel

Task: Listen to the lecture, make up a plan, write out new words, speak out on the key ideas.

Paznen 7 AynupoBanue 4
Task : Listen to the lecture , make up a plan, write out new words, speak on the key ideas.
http://videolectures.net/clspss09_kingsbury mrs/

Pa3znen 10 Ayauposanue 5

Jlexuus o BeIOOpY rpymmsl. http://videolectures.net 1 ac.
http://videolectures.net/kdd2014 domingos_scale_modeling/
http://videolectures.net/kdd2013 varian_search_engine/
http://videolectures.net/nips2012 duchi_learning/
http://videolectures.net/mlss04 hofmann_irtm/
http://videolectures.net/mitworld _malvar_radp/
http://videolectures.net/wsdm2011 shum_bdm/
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http://videolectures.net/medicon07_tabakov_emitel
http://videolectures.net/clspss09_kingsbury_mrs/
http://videolectures.net/
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http://videolectures.net/kdd2013_varian_search_engine/
http://videolectures.net/nips2012_duchi_learning/
http://videolectures.net/mlss04_hofmann_irtm/
http://videolectures.net/mitworld_malvar_radp/
http://videolectures.net/wsdm2011_shum_bdm/

Task:
1. Listen to the lecture. Make up a plan
2. Pay attention to the parentheses, linking words, conjunctions. Make sure you use
them in your discussion.

Yrenue u nepeso. Ilepeckas
Pasnen 4. Urenuel.

On Constructing Intellectual Systems in Ternary Logic.

Being close to the formal logic and natural reasoning, the production knowledge model is a
popular attractive means for using in intelligent systems. There are also some drawbacks in the
production model based on implications, which necessarily imply contradictions. Attempts to
rectify drawbacks of the two-valued logic were made by J. Lukasiewicz [1], L. Carroll [2], and
N. P. Brusentsov [3], who laid the basis for a three-valued logic capable of operating not only
with the values “truth” and “false”, but also with the third value “unknown,” “possible,”
“necessarily yes,” “necessarily no,” and so on. Another way to eliminate drawbacks of the two-
valued logic is provided by fuzzy logic (soft computing). It was proposed by L. Zadeh and
involves a continuous scale of values between the “truth” and “false” states. Under this
approach, two- and three-valued logics are particular cases of fuzzy logic. The apparent
disadvantages of fuzzy systems are the absence of standard methods for transition to fuzziness
and back (fuzzification and defuzzification) and computational complexity. As a result, fuzzy
logic is mainly used in expert systems, in which cause-and-effect relations are replaced by
simple relations “external manifestations—conjecture” [4]. It is worth noting that the use of two-
valued logic is acceptable in expert systems, because, in these systems, facts are usually revealed
in the course of a dialog with the user, which resolves paradoxes. A three-valued logic is also
useful in modern information systems. In particular, in the majority of the database management
systems, fields may take the NULL value. True, under this approach, it is not possible to use
such fields in SQL-queries, since no comparison operations are allowed with them. Expert
systems also employ a three-valued logic: : as an example we mention PRELOG (Precedence
Logic Inference Interface Software), which is a precedence-based inference software used to
determine a donor’s suitability for donations [5]. However, both database management systems
and expert systems operate only in a closed domain, so that the use of a three-valued logic here
affects only reliability of conclusions. In the meantime, the absence of a solution in some domain
may be indicative of the necessity of expanding the object domain and eliminating
contradictions. In intelligent systems, contradictions are eliminated by combining assumptions
from closed and open worlds. However, the open-world absolutization inevitably implies that the
majority of facts become incomputable due to the unbounded growth of the number of
statements, which is especially important for retrievals of knowledge from the Semantic web [6].
In this regard, it seems expedient to investigate the possibility of using knowledge about the
absence of solution not only to estimate the plausibility of the results obtained, but also for
controlling the process of reasoning modeling.

Ex.1. Answer the questions to the text:

What kinds of logic are there?

What are the drawbacks of the two-valued logic?

Who laid the basis for the three-valued logic?

What is fuzzy logic?

Where can it be applied?

Why is information sometimes incomputable?

How can this problem be solved?

Nog,rwhPE



Ex.2 Retell the article and add information on the issue.

Pa3pen 6 YteHue 2

.A Low Level Look at Python

To understand the GIL and its implications, we must start at Python's foundations. Languages
like C++ are compiled languages, so named because a program is fed in to a compiler where it is
parsed according to the language's grammar, transformed into a language agnostic intermediate
representation, and linked into an executable comprised of highly optimized machine code. The
compiler is able to optimize the code so aggressively because it is seeing the whole program (or
large, self-contained chunks) at once. This allows it to reason about interactions between
different language constructs and make informed decisions about optimization.

In contrast, Python is an interpreted language. The program is fed into an interpreter in order to
be run. The interpreter has no knowledge of the program before it is run; rather, it knows the
rules of Python and is capable of dynamically applying those rules. It too has optimizations, but
optimizations of a rather different class. Since the interpreter cannot reason about the program
proper, most of Python's optimizations are optimizations of the interpreter itself. A faster
interpreter means faster program execution "for free". That is, when the interpreter is optimized,
Python programs need not change to realize the benefit.

This is an important point, so it bears repeating. The execution speed of a Python program, all
other things being equal, is directly tied to the "speed” of the interpreter. No matter how much
optimization you do within your program itself, your program's execution speed is still tied to
how efficiently the interpreter can execute your code. It is clear, then, why much work has been
devoted to optimizing the Python interpreter. It is the closest thing to a free lunch Python
programmers can get.

Now we come to the crux of the issue. To take advantage of multi-core systems, Python must
support multiple threads of execution. Being an interpreted language, Python's interpreter must
be written in such a way so that doing so is both safe and performant. We all know the issues that
multi-threaded programming can present. The interpreter must be mindful not to operate on
internally shared data from different threads. It must also manage user's threads in such a way
that the maximum amount of computation is being performed at all times.

What, then, is the mechanism by which data is protected from simultaneous access by different
threads? The Global Interpreter Lock. The name is instructive. Quite literally, it is a global (in
the sense of the interpreter) lock (in the sense of a mutex or similar construct) on the interpreter.
This approach is certainly safe, but it has (for the new Python programmer), a startling
implication: in any Python program, no matter how many threads and how many processors are
present, only one thread is being executed at any time.

Many discover this fact by accident. Newsgroups and message boards are littered with messages
from Python novices and experts alike asking "why does my newly multi-threaded Python
program run slower than when it had only one thread?" Many feel silly even asking the question,
since of course a program with two threads where before there was just one will be faster
(assuming that the work is indeed parallelizable). In fact, the question is asked so frequently that
Python experts have crafted a standard answer: "Do not use multiple threads. Use multiple
processes.” But this answer is even more confusing than its question. | shouldn't use multiple
threads in Python? How can multi-threading in a language as popular as Python be so broken as
to have experts recommending against its use? Surely I'm missing something?

Sadly, nothing has been missed. Due to the design of the Python interpreter, using multiple
threads to increase performance is at best a difficult task. At worst, it will decrease (sometimes
significantly) the speed of your program. A freshman CS undergrad could tell you what to expect
when threads are all competing for a single shared resource. The results are often not pretty. That
said, there are many times that multi-threading works well, and it is perhaps a testament to both
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the interpreter implementation and the core developers that there are not more complaints about
Python's multi-threading performance.
Ex.1. Read the text and answer the questions:

1. What are compiled languages?
Why does the compiler optimize the code aggressively?

What is directly tied to the speed of the interpreter? Why?

> DN

Why do experts recommend using not threads but processes?
5. When do threads compete for a single shared resource? How can we solve the problem?

Ex.2. Make up a plan and retell the article.

Pa3nea 8.Urenue3 Text Turing’s Test.
Task: Read the text, write out the new words, speak out on the main points.

Turing called the original Turing Test (TT) the ‘imitation game’. It involves limiting a human
test subject to the communication level of a computer (via a computer terminal).

The computer and human communications are then contrasted by a human interrogator who is
unaware which is which [22, 23]. The ‘structured mistake’ that makes the competing streams
indistinguishable was supposed proof of equivalence of machine and human intelligence. To
connect the PCST to the TT note that the Turing-Machine in the test is not embodied or
embedded/situated cognition and fits into the class of computationalism. A very neat definition
of computationalism comes from Randolf Beer:

“...the theoretical claim that a system’s behavior derives from its instantiation of appropriate
representations and computational processes” [31].

This definition does not exclude ‘the scientist’ from being artificially created using “appropriate
representations and computational processes”. This assumes that one can completely model a
modeller of the exquisitely novel and intrinsically unknown in a situation where, by definition,
all novelty is forced to be characterised by existing models and all new models have to be
characterised by a computationalist model for making new models, not by the (distal natural
world) novelty itself. In this light computationalism is at best a very suspect principle. The idea
that the original Turing Machine ‘tape and tape reader/punch’, which is an example of the
agency shown in Fig. (2b), can even begin the PCST seems far-fetched. Based on a subsequent
assessment of Turing’s own attitude to the process, this is something that Turing would probably
also have predicted [32]. It is for this reason that Stevan Harnad proposed an extreme upgrade to
the Turing Test called the ‘Total Turing Test” or TTT, which requires that:

“The candidate must be able to do, in the real world of objects and people, everything that real
people can do, in a way that is indistinguishable (to a person) from the way real people do it”
[21].

Beyond the TTT a ‘Lovelace Test” (LT) was considered. This test focused on the creativity
(originality) of humans as an indicator of intelligence. Various models of artificial creativity
were examined in a disembodied test regime similar to the original TT. The conclusion of the
work was in the negative but is a useful example of a refinement of the TTT that may have born
fruit [10]. The PCST can be viewed as an empirically viable variant of the TTT and LT obtained
by choosing a single very specialised behaviour: scientific behaviour. The benefit of this choice
is that the Harnad clause ‘indistingishable (to a person)’ is scientifically verified by the PCST
and the behaviour is critically dependent on Pconsciousness. With respect to ‘originality’ the
PCST is also a variant on the LT because originality is implicit in the act of science, where the
outcome the unknown novel scientific law.



10

Pa3nen 5,.9, 12,13 UnauBuayajJabHOe YTeHHE

MynsTUMEIHIHBIE CPEICTBA OOYUYEHUS SBISIOTCS HEOTHEMJIEMOH YacThiO paboOThl MPHU
MOATOTOBKE K MHAMBUAyaIbHOMY uTeHHI0. Ha (akynbrere nmeercs Beixoa Ha cait «Medialaby
C JIOINOJHUTEIBbHBIMU MAaTepHAIaMU I KaKJI0ro ypoBHs. Ha caiiTe MOKHO HaWTH JICKUHMH Ha
AHTJIMCKOM $SI3BIKE 10 OTPACIISIM HAYKH, OTPHIBKH U3 (GUIBMOB U YYCOHBIX KYPCOB, ONITUMAIBHO
JOTIONHSAIOIIME OCHOBHOM Kypc. IIpenomaBaTenb MOXET MOPEKOMEHIOBATh HCIOJIb30BaHUE
HMCTOYHHUKOB JIONIOJTHUTEIILHBIX MaTepUajIoB, HE OTPAHUYMBATHCS MCIIOJIb30BAaHUEM YUCOHHKOB U
MocoOMii, WMEIMUXCS B HaJlW4Yud B OWOIMOTEKe, HO M TPHUMEHSTh MaTEpHalbl U3
MEPUOJIMYECKUX W HAyYHO-TIONMYJSPHBIX H3JaHHKA, pecypchl ceTu HMHTepHeT, T.K. pa3BUTHE
TEXHOJOTHH MO JAHHBIM CHEIHATBHOCTSIM 3HAYUTEIHFHO ONEPEKaeT OCHAIICHUE M MOIMOJIHEHUE
OMOJIMOTEK COBPEMEHHOM TUTEpaTypoii. B KauecTBe MpUMEPOB TaKUX U3JIAHUNA MOXHO IMPUBECTH
Scientific American, Time, Computerworld, The Economist, The Moscow News u caiTsl
www.computerworld.com, www.pcmag.com, http://n.wikipedia.org, a Taxxe HWHTepHeT-
pecypcamu Ha caiite Medialab http://medialab.uniyar.ac.ru (pasmen Pecypcel) u caiitamu st
M3YYAOIIUX  aHMIMMCKUM  s3bIk (B 4acTHocTd, caiitom  bpurtanckoro  Coera
www.learningenglish.com u caiiramu komnanuii BBC www.bbclearningenglish.com u Voice of
America  www.voanews.com/specialenglish). KoHTponb  MHIMBHUIYadbHOTO  YTCHHSI
MIPOU3BOANTCS KaxKAbIi Mecs, B kommuectse 4000-5000 3nakoB 0e3 mpobenoB. O0s3aTeNbHBIM
TpeOOBaHUEM SBJISETCS HAJIMYHME BBIIIMCAHHBIX CJIOB C IIEPEBOJOM, KpaTKHHM Iepeckas
coJiepKaHUsl TEKCTa, MEPEBOJ] BCETO TEKCTA, OTBET Ha BOIIPOCHI MperogaBaTes.

Omnpoc auajoros 1, 6
Jluamor 3HaKOMCTBAa Ha IMEpBOM 3aHATMM U 10-MHHYTHBIM Juajor B KOHLE Kypca IO
npobiematuke Bcex JeKUuil u TeM. OLleHHMBaeTcs YMEHHE BBLICIUTh HMHTEPECHbIE TEMBbl U
o0cymuTh ¢ maptHepoM. OO0s3aTeNieH MUCbMEHHBIN BapyuaHT IUAIOTa U HAJMYKME B HEM KJIHIIE
Hay4HOU U Pa3rOBOPHOM pEUHU.

OleOC AHAJI0IroB HA OCHOBEC TEKCTA
Pa3nen 6. A Low Level Look at Python
To understand the GIL and its implications, we must start at Python's foundations. Languages
like C++ are compiled languages, so named because a program is fed in to a compiler where it is
parsed according to the language's grammar, transformed into a language agnostic intermediate
representation, and linked into an executable comprised of highly optimized machine code. The
compiler is able to optimize the code so aggressively because it is seeing the whole program (or
large, self-contained chunks) at once. This allows it to reason about interactions between
different language constructs and make informed decisions about optimization.
In contrast, Python is an interpreted language. The program is fed into an interpreter in order to
be run. The interpreter has no knowledge of the program before it is run; rather, it knows the
rules of Python and is capable of dynamically applying those rules. It too has optimizations, but
optimizations of a rather different class. Since the interpreter cannot reason about the program
proper, most of Python's optimizations are optimizations of the interpreter itself. A faster
interpreter means faster program execution "for free". That is, when the interpreter is optimized,
Python programs need not change to realize the benefit.
This is an important point, so it bears repeating. The execution speed of a Python program, all
other things being equal, is directly tied to the "speed” of the interpreter. No matter how much
optimization you do within your program itself, your program's execution speed is still tied to
how efficiently the interpreter can execute your code. It is clear, then, why much work has been
devoted to optimizing the Python interpreter. It is the closest thing to a free lunch Python
programmers can get.
Now we come to the crux of the issue. To take advantage of multi-core systems, Python must
support multiple threads of execution. Being an interpreted language, Python's interpreter must
be written in such a way so that doing so is both safe and performant. We all know the issues that


http://www.computerworld.com/
http://www.pcmag.com/
http://n.wikipedia.org/
http://medialab.uniyar.ac.ru/
http://www.learningenglish.com/
http://www.bbclearningenglish.com/
http://www.voanews.com/specialenglish
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multi-threaded programming can present. The interpreter must be mindful not to operate on
internally shared data from different threads. It must also manage user's threads in such a way
that the maximum amount of computation is being performed at all times.

What, then, is the mechanism by which data is protected from simultaneous access by different
threads? The Global Interpreter Lock. The name is instructive. Quite literally, it is a global (in
the sense of the interpreter) lock (in the sense of a mutex or similar construct) on the interpreter.
This approach is certainly safe, but it has (for the new Python programmer), a startling
implication: in any Python program, no matter how many threads and how many processors are
present, only one thread is being executed at any time.

Many discover this fact by accident. Newsgroups and message boards are littered with messages
from Python novices and experts alike asking "why does my newly multi-threaded Python
program run slower than when it had only one thread?" Many feel silly even asking the question,
since of course a program with two threads where before there was just one will be faster
(assuming that the work is indeed parallelizable). In fact, the question is asked so frequently that
Python experts have crafted a standard answer: "Do not use multiple threads. Use multiple
processes.” But this answer is even more confusing than its question. I shouldn't use multiple
threads in Python? How can multi-threading in a language as popular as Python be so broken as
to have experts recommending against its use? Surely I'm missing something?

Sadly, nothing has been missed. Due to the design of the Python interpreter, using multiple
threads to increase performance is at best a difficult task. At worst, it will decrease (sometimes
significantly) the speed of your program. A freshman CS undergrad could tell you what to expect
when threads are all competing for a single shared resource. The results are often not pretty. That
said, there are many times that multi-threading works well, and it is perhaps a testament to both
the interpreter implementation and the core developers that there are not more complaints about
Python's multi-threading performance.

Ex.1. Read the text and answer the questions:

6. What are compiled languages?

7. Why does the compiler optimize the code aggressively?

8. What is directly tied to the speed of the interpreter? Why?

9. Why do experts recommend not to use threads but processes?

10. When do threads compete for a single shared resource/ How can we solve the problem?
Ex.2. Make up a plan and retell the article with your comments.

Oo6cy:xnenune

Ha ocHoBe TexcToB u neknuii (pasaenst 5,10)

Paznen 10. Jlekuus mo Beibopy rpymmsl. http://videolectures.net 1 gac.
http://videolectures.net/kdd2014 domingos_scale modeling/
http://videolectures.net/kdd2013 varian_search_engine/
http://videolectures.net/nips2012_duchi_learning/
http://videolectures.net/mlss04 hofmann_irtm/
http://videolectures.net/mitworld _malvar_radp/
http://videolectures.net/wsdm2011 shum_bdm/
Task:

3. Listen to the lecture. Make up a plan

4. Pay attention to the parentheses, linking words, conjunctions/ Make sure you use

them in your discussion.



http://videolectures.net/
http://videolectures.net/kdd2014_domingos_scale_modeling/
http://videolectures.net/kdd2013_varian_search_engine/
http://videolectures.net/nips2012_duchi_learning/
http://videolectures.net/mlss04_hofmann_irtm/
http://videolectures.net/mitworld_malvar_radp/
http://videolectures.net/wsdm2011_shum_bdm/
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Pa3znen 2, 12 . PepepupoBanue
Task: Study the book «AuHoTHpOBaHKe U pedepupoBanue» JI.IT. Mapkymiesckas, 10.A.
IlammaeBa pp. 5 — 20 and write an abstract on one of the texts of the course (see above). Study
«[Ipakruka Benenus muckyccun» UK. byrposa SpI'Y, 2012, pp. 26 — 29 and write an essay.
(A4 a page and a half).

Pasnen 4, 5, 13 KonTposabHbie padoThl
KonTtpouabnas pa6ora Ne 1
Translate into Russian the following sentences:

. Children enjoy being read to.

. I hate being talked to like that.

. She turned back with the feeling of being watched.

. He is good at pleasing other people.

. There was a rumour of the famous picture having been stolen from the museum.
. There is nothing wrong in asking for help if you don’t understand smth.
. Gambling is much frowned upon.

. People will gossip. There’s no preventing it.

. There’s nothing like swimming in the sea on a hot July morning.

10. There’s no fooling him.

11. There is no accounting for his low spirits.

12. There’s no telling (knowing) what will happen next.

13. It makes no difference his coming or not.

14. 1t’s no use complaining.

15. 1It’s just no use all this gadding about.

16. It makes all the difference you coming today.

17. Do you fancy joining me?

18. He is a good specialist. There’s no denying it.

19. There’s no pleasing him.

O©CoOoO~No ol WN P

:EX. 2 1. Choose the correct form of Gerund and the Infinitive

1. He insists on the problem (solving, solved, being solved) at once.

2. He referred to your (doing, done, being done) the work in time.

3. They rely on the work (doing, being done, done) now.

4. Before (using, used, being used) the theorem should be discussed properly.

5. The teacher is surprised at his not (passing, passed, having passed) the exam yesterday.
6. Students (taken, taking, being taken) exams next week should come up to the teacher.
7. You can measure the force (acted, being acted, acting) upon the body.

8. The force (applied, applying) to the body was measured.

9. (Having graduated, graduating) from the Institute he began to work at an office.

I1. Choose sentences with the Gerund. Translate them into Russian.

1 .His work resulted in solving many problems.

2. Making these experiments we can compare the weight of elements.

3. The substances tested were described in his report.

4. Newton's having formulated this law was of great importance.

5. The idea of creating the method of coordinating belongs to Descarts.

6. When compressing a gas heat may be developed.

I11. Choose sentences in which the action expressed by the Gerund is referred to the past.
1.1 am surprised at her having left Moscow.

2. They insist on studying this problem next term.

3. The teacher insists on our doing the work in time.

4. They rely on your having done the work properly.
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Konumponvnaa paboma No2

Exercise 1. Use the appropriate form of the Infinitive (Active or Passive).

NSk E

9.

She only pretends . She isn’t easy .(frighten, frighten)

He is sorry way to panic then. (give)

| am glad to you at the party yesterday. (introduce)

I didn’t expect____this question. (ask)

Don’t talk too much if you want____. (listen to)

Unpleasant things shouldn’t .(put off)

He is happy through with this task. (be)

It’s bad of you so much attention to trifling matters. You should be more serious.
(pay)

Dan is happy first prize for this picture. (award)

10. Heis sorry_____your advice then. (not follow)

11.  There are a hundred things___. (do)

12.  According to the schedule the plane was long ago. (land)

13.  It’s sensible of John Kate this advice. | hope she’ll ~ follow it. (give)
14. Heissorry you in your work. (disturb)

15.  It’s thoughtful of you the flowers. She was pleased. (bring)

16. He claims Elvis Priestly. Who’ll believe him? (meet)

17.  Aren’t you supposed after your sister at the moment? (look)

18. lam sorry you but I didn’t mean anything of the kind. (disappoint)
19. It was considerate of my son___of me when | was ill. (take care)

20. The woman pretended __ and not the bell. (read, hear)

21.  Annwould love  on the beach now instead of typing letters. (lie)

22. Heisn’toldenough ~ _ out late (allow, stay).

Exercises 2. Translate into English using the Infinitive with it”.

©ooNOT WM E

Emy TpyaHO BepHTSH.

Eit nocraBnsno orpoMHOe Y0BOJIBCTBUE BUAETh, KaK UTPAIOT JETH.
Henoxo 661710 ObI TOEXATh 32 TOPOJI 3aBTPA.

Hawm noHnago0uinocs MHOTO BpeMEHH, YTOOBI YOSTUTh €ro, YTO OH HEMpPaB.
He npenynpenuts ero o0 3ToM ObU10 OB HEYECTHO.

Bam He momeraeT, eciu Bbl 3aiMETECH CIIOPTOM.

OdeHb MPUATHO MTUTH U3 KOJIOAIA XOJIOTHYIO BOY B KAPKHH JICHb.
JlxeitH moTpeboBaIoCh mordaca Ha To, YTOOBI 10OPaThCs 10 TOPO/Ia.

3a 9THM CTOJIOM XOpOIIO paboTaTh.

10. 3ro mos o6s3aHHOCTS — YYUTh Bac.

11. HekoTopbIM IIt0ASIM TPYAHO YTOJIUTh.

12. Cruxu tpyano nepeBouTs.

Exercises 3. Change the structure of the sentence using the Infinitive as an attribute

1. The people who will be invited to the conference must take an active part in the work.
2. He knows all the places in the town that can be found there.
3. The railway that will be built there will join the two industrial centers.
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exhibition.
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The next patient that was to be examined was a nice girl in her early teens.
Honesty is the first principle that is to be observed when working with us.

I have a question or two which must be considered.

He is not the man who will draw back when dignity is concerned.

This is the mineral that can be found in this part of the country.

The ship has arrived with the pictures which will be displayed at the international

10. I have a lot of problems that must be solved.

11. We had no time one could lose.

12. The library has received a list of the books which will be published this year.

13. | have a nice tool which can be used.

14. They had a friend one could get along with.
15. She had no one in whom she could confide.

Exercise 4. Translate the sentence into English using the Infinitive as an attribute.

1. Bort kHHTa, KOTOPYIO HAJJ0 TPOYUTATH.

2. Y Hee ecTb ApY3bsi, KOTOPBIE MOTYT HaBECTHTD €€ BO BpeMsi 0OJIC3HU.

3. OH He ObUT YEIIOBEKOM, KOTOPBIH OBICTPO MPHBJICKAT K ceO¢ BHUMaHUE.

4. Omna nepBoii npeppajia MOJTYaHHUE.

5. JIxek 3Haj, 4TO HEIb3s TepsATh Bpems. (There was no...........)

6. Ilocnemnuii, KTO HaBeCTUJI AHHY, ObLI €€ ChIH.

7. 'Y Hac ecTb XOpOIIUH aHEKIOT, KOTOPBIH MBI MOKEM PacCKa3aTh BaM.

8. S mo3:xe Bcex pa3raaai ee HaMepeHUsl.

9. V Hee ecTb peOEHOK, O KOTOPOM HAJI0 3a00TUTHCH.

10. Omna ToT4ac MOYYBCTBOBAJIA, YTO Y HUX €CTh YTO-TO, YTO HYKHO COOOIITUTH €.
11. ITamATHUK, KOTOPBIHA OyAET BO3BE/EH 3/€Ch, OyIeT MOCBSIIIEH IeposiM BOIHBI.
12.

I[eMOKpaTI/I‘{eCKOﬁ apTuu.

BBI60pBI, KOTOPLIC COCTOATHCA B Ma€, CKOPEC BCCTO, IIPUBCAYT K HO6CI[€

13.  Bot npobnema, KOTOpyro HaJl0 PEIINTh HEMEJICHHO.

14.  Emy Heuero ObUIO CTBIIUTHCS.

KonTpoabsnas padora Ne 3.
Ex.1

A ycran. S 6b1 mpeanoyen HUKya He XOIUTh
CErOJTHSI BEUEPOM.

I’m tired. I'd rather not go out tonight

EnBa mu MOXHO 4TO-JIMOO cAenaTh B JAHHOM
ciIy4dae Kpome pa3pabOoTKh HOBOW CTPATeTHH.

There’s hardly anything to do but work out an
alternative plan (syn) scarcely

Hawm O yuie (13 pasyMHBIX cOOOpakeHU)
U3MEHHUTDH CTPATETUIO

We’d better change the strategy now.

BEI 10/XKHEI 3HaTh 3TO IIpaBUJIO

You are supposed to know this rule

MaJ'IOBCPOSITHO, YTO OH CCTOAHS ITOABHUTCA.

He is unlikely to come tonight.

Kaxk moii Opart, Tak M sl HUHTEpecyemcs
KOMIIBIOTEPHBIMU TEXHOJOTHUSMHU.

Both my brother and | are keen on computer
technologies.

Sl He HUHTEPECYIOCh HM MAaTEMAaTUKOW, HH
XHAMHEMN.

| am keen neither on Math nor on Chemistry.

Jronu, kak mpaBuJI0, ONa3AbIBAIOT HA
3aceaHus

People tend to be late for meetings

He is unlikely to come today.

MaHOBepOHTHO, 4TO OH IMPUACT CCTOAHA.

He is sure (certain) to come today.

OH, HECOMHEHHO, Oy/IeT CEeTOHSI.

How long does it take you to get to the U.?

Cxkounbpko BpeMeHH BaMm Tpebyercs, 4To0bI
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no0patbest 10 YHUB.?

It takes me half an hour to get there. Msue TpebyeTcst moaJaca.

By all means (by no means) Bo uT0 ObI TO HM CTaJI0 ( HA B KOEM CITydac)

It happened due to his lack of knowledge W3-3a; B cuity; BCieaCTBHE; Oiaromaps
Hexsartka

Whether you like it or not He3zaBucumo ot Toro

He made use of all secret data Bocrmonb3oBatbes

I made up my mind to change profession. Peruth

He changed his mind at the last moment. [epeaymars

We are all subject to the laws of nature. IMoananars, OBITH TOJOTYETHBIM,
IMoABEPIraThbCs

Kommenmapuii k pabome.

B pabGoTy BXOOUT MPOBEPOUHBIM MaTepuan HAa 3HAHUE CJY:KeOHBIX CJIOB TEKYIIUX YPOKOB,
MOBTOPEHHE DJIEMEHTApHbIX 000poToB Tuma both...and; neither ...nor, HexoTOpBIX
Pa3rOBOPHBIX BBIPAKEHUH, AKTUBU3UPOBAHHBIX B TEPBOM TeMe CEMECTpa, M MPUMEPOB Ha
koHcTpykuuto Complex Subject.

Exercises2. Translate the sentences into Russian. Pay special attention to the modal verbs,
functions of “should” and the Infinitive, Infinitive constructions.

1 If you should chance to meet her any time, any place, any way, tell her
that I love her and want her back again. (An Italian song)
2. Temperatures today should range between 18 to 20 degrees above zero.
3. A superpower should be able to simultaneously address several global
threats.
4. You've got to look to the future and be prepared to deal with things if
an emergency should arise.
5. Europeans should focus on understanding the revolutionary trends in
US military doctrines
6. America should have a president who is responsible impartially to all
Americans.
7. Should the candidate fail to win a majority, a second round will be
held on April 16.
8. If anyone should be brought before an international criminal court, it
is surely the Baghdad leader.
9. If a product is effective in treating ageing, it should be classified as a
drug, not as a cosmetic, critics say
10 According to the Organisation for Economic Cooperation and Development economic
growth should continue in Russia this year and next.
11. Wherever the fault lies, practical politics mean it is Europe and Japan
that will have to swallow their pride and .
12. The top priority is to complete the Doha round of multilateral trade
negotiations in 2006.come to the rescue of the World Bank's International Development
Association
12. These ingredients are unlikely to do much more than just moisturize skin,
experts say
13. China's balance of trade in goods and services is likely to return to a surplus
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14 1t would be a grave error for Washington to walk away from a treaty.

Cemunap Ne 1

Pa3nea 14. CeMuHap Ha OCHOBe JICKIIMOHHOI'0 MaTepuaJia. BeiOupaer rpynna.
http://videolectures.net/wsdmQ09 dean_cblirs/
http://videolectures.net/clspss09 mayfield_iir/
http://videolectures.net/dataforum2012_farrow_copyright/
http://videolectures.net/multimedia09 ebrahimi_gme/
http://videolectures.net/mum09 _rieser _aofm/
http://videolectures.net/multimedia09 smeulders _iom/
http://videolectures.net/multimedia09 smeulders_iom/
http://videolectures.net/yalemecon251f09 geanakoplos lec24/
http://videolectures.net/yaleplsc270f09 goetzmann_lec11/
http://videolectures.net/yalemecon251f09 geanakoplos lec10/
http://videolectures.net/yalemecon251f09 geanakoplos lec08/

Task:
1. Listen to the lecture. Make up a plan
2. Pay attention to the parentheses, linking words, conjunctions/ Make sure you use
them in your discussion.
3. Speak on the problems of the lecture

Omnpoc auanoros. Pazgea 1. 6
Jluamor 3HaKoMCTBa Ha NEpBOM 3aHATUM U 10-MHUHYTHBIH JUaJOr B KOHLE Kypca IO
npobiemMaTtuke Bcex JeKUUd W TeM. OlLEeHUBaeTcsi yMEHUE BBIJCIUTh WHTEPECHBIE TEMbI U
o0cyauTh ¢ naptHepoM. OO0s3aTeNieH MMCbMEHHBIN BapuaHT JMaNora U HaJliuue B HEM KIIUIIe
Hay4HOU U Pa3roOBOPHOM pEUHU.

Ilepecka3s
Ha nepeckas uayt Bce cratbu.

3ayeT No 3aIaHUSAM K JIEKIUSM
IIpoBepsieTcsi Hajauyue MNMJaHA K JIEKHUSIM, CIOHCKA HOBBIX CJI0B, MHCHMEHHO
0()OpMJICHHOT0 MHEHHS 0 MPOo0JIeMAaTHKe JIeKIUH (HaTu4yue KIuIie).

Omnpoc

CryneHThl FTOTOBAT TEKYIUN MaTepual U OTBEYAIOT y CToJIa Iipenoaasaresns. OTBeyaroT Ha
BOITPOCHI APYTUX

NuauBuayanbHoe yrenue S, 9, 12,13

[IpoBepsieTcst BELIOOPOUHBII epeBo1, TOAPOOHAs Mepeaaya cofepxKaHus Ha A3bIKe OpUTHHAIA,
OTBETHI HA BOIIPOCHL.

1.2 Cnucox BonpocoB u (MJIH) 3aIaHNUI J1J1s IPOBeIeHUsI POMEKYTOUHOI aTTecTalluu
3auer (cemectp 1)
1. K.paboTsl cemecTpa, BHITOJHEHHBIE HA OLEHKY «XOPOIIOY.
2. Ydactue B ceMuHapax, oocyxaeHusx. Hamuuue B TeTpaau 1miaHoOB KO BCEM JICKIIHSIM,
MHEHHH 110 JICKIIHSIM.


http://videolectures.net/wsdm09_dean_cblirs/
http://videolectures.net/clspss09_mayfield_iir/
http://videolectures.net/dataforum2012_farrow_copyright/
http://videolectures.net/multimedia09_ebrahimi_qme/
http://videolectures.net/mum09_rieser_aofm/
http://videolectures.net/multimedia09_smeulders_iom/
http://videolectures.net/multimedia09_smeulders_iom/
http://videolectures.net/yalemecon251f09_geanakoplos_lec24/
http://videolectures.net/yaleplsc270f09_goetzmann_lec11/
http://videolectures.net/yalemecon251f09_geanakoplos_lec10/
http://videolectures.net/yalemecon251f09_geanakoplos_lec08/

17

3. 60 cTp. ”HAMBUAYATHLHOTO YTCHUSI.
4. YCTHOE M3JI0KEHHE MHEHUS 110 JIeKIusM (He MeHee 45-50 mpeioxkeHwi)

JK3amMeH (cemecTp 2)
1. Jlexcuko-rpammarudeckast pabora
Tasks:
1 Read the text without a dictionary. Write down 8 questions to the text. Pick up
the key ideas and write them down using the Complex Subject, the Complex
Object, the For-phrase, the Gerund.
Kommenmapuui:
Hpoeepﬂemc,q YMeHUe UcCnoib3oednb KOHCMPYKUYUU. Ocnosnas epammamuxa
0mpa6ambleaemc;z 6 mevyeHue cemecmpa. Obvem YacoeHe noseoJjisiem
ompabamviéams 2pamMMamuKy 0emaibHo.

THE CLASSICAL DOUBTS

The mantra that automatically gets replayed as rebuttal of any sort of claimed scientific proof of
consciousness goes something like “/ can’t prove you are conscious and vice versa”. This has
been used so much that it’s recited without thinking and may have done us a disservice.

The PCST directly challenges the ‘you can’t prove...” claim. The PCST enacted on test subject
X entails that an observer of the requisite behaviour have no more doubt as to the existence, role
and status of P-consciousness in X than the observer might have in any other situation in science.
This is not a claim of zero doubt, for it is always possible to construct some doubt. In science,
doubt is merely sufficiently allayed to render a proposition worthy of practical attention. A novel
proposition must make a testable prediction of some sort. The PCST merely expects the same
treatment in propositions in respect of the P-consciousness of scientists. For PCST purposes,
proposition Z2 = “I can’t prove you are conscious and vice versa” is recognised as having no
supporting evidence and shall be dropped. A very reasonable doubt that Z2 is true can be
constructed and that doubt is based on empirical isolation of a verifiable critical dependency. The
PCST acquires its authority thus, in an act of plain ordinary science.To see how culturally
awkward a ‘test for consciousness’ feels, put yourself in the observer’s shoes and ask “l know |
signed-off on the test procedure PCST, it sounds right ...but.... how do I really know X has P-
consciousness?”. It is quite confronting to be asked to accept that what has been observed in the
lab proves that P-consciousness exists within test subject X. The usual retort goes something like
this: “l can imagine the machine X behaving that way and yet having no P-consciousness at all.
What is it about the observation that assures me that there is P-consciousness inside it?”. In
answer to this note that the argument “/ can imagine.....” cannot be given special privileges
when dealing withP-consciousness. If the argument is compelling for P-consciousness, then
every scientific experiment or hypothesis must be permitted the same defeat. For example: “l can
imagine particle Y being produced without the involvement of particle Z”. Nobody would allow
such an argument to disprove the discovery of the neutrino, which has this evidentiary basis.

2. 60 cTpaHUI] OPUTHHATIBHOTO TeKCTa (MHAUBUIYAIbHOE YTCHHUE),

3. 3ader MO CEeMHHAPCKHUM 3aHSATHSM, JEKIHSIM, TIepecka3zaM YIeOHbBIX TEKCTOB.

4.10-MMHYTHBIH JHaJIOT ¢ MApTHEPOM Ha OCHOBE MPOYUTAHHOTO U MPOCITYIIAHHOTO 32
CEMECTp MaTepHaa.

Cnucok TeM 3a Kypc o0yueHus:

1. Job interview.

2. ‘On constructing intellectual systems in Ternary Logic’
3. An e-Encyclopedia for Medical Imaging Technology
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4. Python.

5. Turing’s Tests.

6. Deep reinforcement learning

7. CBost mpoheccronanbHas nexkus (1 gac)
8. Jlekmus o BEIOOPY IPYIIIIHL..



